
EG671−7N

EG671−1Nlin:520, 570, 620

Go, Ro, L la-Daten
L la=(Go+Ro)/2

Go, Ro, L la

uλ=(λ−550)/50
logGo=−0,35[uλ−u520]2

logRo=−0,35[uλ−u620]2

logLo=−0,35[uλ−u570]2

Adapt.: λGR=570520 570 620
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maximum
log(L lam)=−0,32
L lam=0,47
Schwellen
ta=0,03, tb=0,00

EG671−2Nlog:520, 570, 620

logarithm. [Go, Ro, L la]-Daten
L la=(Go+Ro)/2

log[Go, Ro, L la]

uλ=(λ−550)/50
logGo=−0,35[uλ−u520]2

logRo=−0,35[uλ−u620]2

logLo=−0,35[uλ−u570]2

Adapt.: λGR=570520 570 620
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log(L lam)=−0,32
L lam=0,47
Schwellen
ta=0,03, tb=0,00

EG671−3Nlin:520, 570, 620

G_o, R_o, L_la-Daten
L la=(Go+Ro)/2
L_la=1−L la
G_o, R_o, L_la

uλ=(λ−550)/50
logGo=−0,35[uλ−u520]2

logRo=−0,35[uλ−u620]2

G_o=1−Go; R_o=1−Ro
Adapt.: λGR=570520 570 620
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maximum
log(L lam)=−0,32
L lam=0,47
Schwellen
ta=0,03, tb=0,00

EG671−4Nlog:520, 570, 620

logarithm. [G_o, R_o, L_la]-Daten
L la=(Go+Ro)/2
L_la=1−L la
log[G_o, R_o, L_la]

uλ=(λ−550)/50
logGo=−0,35[uλ−u520]2

logRo=−0,35[uλ−u620]2

G_o=1−Go; R_o=1−Ro
Adapt.: λGR=570520 570 620
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maximum
log(L lam)=−0,32
L lam=0,47
Schwellen
ta=0,03, tb=0,00

EG671−5Nlin:520, 570, 620

Gn, Rn, L ln-Daten
L la=(Go+Ro)/2=Gn+Rn
L ln=L la=(Gn+Rn)/2
Gn, Rn, L ln

uλ=(λ−550)/50
logGo=−0,35[uλ−u520]2

logRo=−0,35[uλ−u620]2

Gn=2Go; Rn=2Ro
Adapt.: λGR=570520 570 620
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maximum
log(L lnm)=−0,32
L lnm=0,95
Schwellen
ta=0,03, tb=0,00

EG671−6Nlin:520, 570, 620

logarithm. [Gn, Rn, L ln]-Daten
L la=(Go+Ro)/2=Gn+Rn
L ln=L la=(Gn+Rn)/2
log[Gn, Rn, L ln]

uλ=(λ−550)/50
logGo=−0,35[uλ−u520]2

logRo=−0,35[uλ−u620]2

Gn=2Go; Rn=2Ro
Adapt.: λGR=570520 570 620
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L ln
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maximum
log(L lnm)=−0,32
L lnm=0,95
Schwellen
ta=0,03, tb=0,00

EG671−7Nlin:520, 570, 620

G_n, R_n, L_ln-Daten
L la=(Go+Ro)/2=Gn+Rn
L_ln=2−L ln
G_n, R_n, L_ln

uλ=(λ−550)/50
logGo=−0,35[uλ−u520]2

logRo=−0,35[uλ−u620]2

G_n=2−Gn; R_n=2−Rn
Adapt.: λGR=570520 570 620
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maximum
log(L lnm)=−0,32
L lnm=0,95
Schwellen
ta=0,03, tb=0,00

EG671−8Nlin:520, 570, 620

logarithm. [G_n, R_n, L_ln]-Daten
L la=(Go+Ro)/2=Gn+Rn
L_ln=2−L ln
log[G_n, R_n, L_ln]

uλ=(λ−550)/50
logGo=−0,35[uλ−u520]2

logRo=−0,35[uλ−u620]2

G_n=2−Gn; R_n=2−Rn
Adapt.: λGR=570520 570 620
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maximum
log(L lnm)=−0,32
L lnm=0,95
Schwellen
ta=0,03, tb=0,00


